
         cg';"rL-2

         ?=xhf<df

cf=j 073/74 sf] oyfy{ cf=j 074/75 sf] nIo

19758 13349

cfGtl<s <fhZj: 1734 4435

;DklQ s< 0 0

e"lds<(dfnkf]t) 997 1800

#< s< 113 300

#<axfn s< 0 20

Joj;fo s< 0 200

hlŠa'^L, sjfŠL < hLjhGt' s< 0

;jf<L ;fwg s< 0 30

lj!fkg s< 0 50

dgf]<~hg s< 0 0

axfn la^f}<L z'Ns 0 5

kfls{ª\ z'Ns 0 20

^«]lsª\, sf]of]lsŠ, Sofgf]Oª z'Ns 0 0

;]jf z'Ns, b:t"< 603 2000

ko{^g z'Ns 0 0

b)Š hl<jfgf 0 10

#< hUuf <lhi^]«zg z'Ns 0 0

z]o< nufgLaf^ k|fKt nfef;_ tyf k"_lhut nfe cfo 0 0

qm[)f nufgLaf^ k|fKt Aofh cfo 0 0

cGo 21 300

<fhZj af_Škmf_Š: 500 500

<fhZj af_Škmf_Š k|flKt(+) 500 500

<fhZj af_Škmf_Š x:tfGt<)f(-) 0 0

cGo cfo: 17524 8414

;fljs :yfgLo lgsfoaf^ x:tfGt<)f e} k|fKt <sd 17524 0

a]?h' c;"nL 0 100

ut jif{sf] df}Hbft 0 8314

u]?jf ufp_kflnsf

lzif{s

<fhZj:

<fhZj tyf cg'bfg k|flKtsf] cg'dfg
cf=j 074/75



0 292452

g]kfn ;<sf<af^ k|fKt cg'bfg: 0 292452

ljlQo ;dflgs<)f cg'bfg 0 191000

;zt{ cg'bfg 0 101452

;dk"<s cg'bfg 0 0

ljz]if cg'bfg 0 0

k|b]z ;<sf<af^ k|fKt cg'bfg: 0 0

ljlQo ;dflgs<)f cg'bfg 0 0

;zt{ cg'bfg 0 0

;dk"<s cg'bfg 0 0

ljz]if cg'bfg 0 0

cGo :yfgLo txaf^ k|fKt cg'bfg: 0 0

;zt{ cg'bfg 0 0

;dk"<s cg'bfg 0 0

ljz]if cg'bfg 0 0

0 7280

gub ;xeflutf 0 500

>d tyf j:t'ut ;xeflutf 0 6780

12667 43300

;fdflhs ;'<Iff sfo{qmd 12667 40000

nfkf sfo{qmd 0 3000

ul<j;_u ljZj]Zj< sfo{qmd 0 200

:yfgLo zflGt ;ldlt sfo{qmd 0 100

hg;xeflutf:

cGo sfo{qmd: 

cGt< ;<sf<L ljlQo x:tfGt<)f:


